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A STORY OF UNITS Lesson 1 Sprint m

A Number Correct: {::}

Name Date

*Write the missing number-.

1 13-3=0 6.113-1=0
2.113-3 =0 17.113 -2 = [
3.13-2=0 18.114 - 3 = [
4113-2=0 19.114 - 4 = [
5.4 -2 = 20114 -10=0
6. 114 -2 =[O 21. 117 -5 =0
714 -3 =0 22./117 -6 =0

8. 114 -3 =01 23117 -10=0
9.114 -10=0O 24/8-0=5H
0|7 -6=0 25.118 -0 =15
1. 17 - 6 = [ 26.118 - 0 =13
12.117 -10 = O 27.119 - O =12
B3.16-3=0 28.|[1-2=17

14116 - 3 = O 29.117-3=16 - O
15.116 - 10 = [ 30./19-6=0-5

EUREKA Lesson 1: Compare length directly and consider the importance of aligning 1

M ITH. endpoints.
This work is derived from Eureka Math ™ and licensed by Great Minds. ©2015 Great Minds. eureka-math.org
G1-M3-5aFP-13.0-05.2015
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A STORY OF UNITS

B

Name

Lesson 1 Sprint m

Number Correct: {::}

Date

*Write the missing humber.

1. 12-2=1] 16. 114 -1 = [

2. |12 -2 =11 17.114 - 2 = O
3.02-1=0 18.115 -3 =

4112 -1= 11 9.115-4=01
513 -3 =[] 20.115-10=0
6. 113 -3 = [ 21.118 - 5 = [
7.13-2= 22./118 -6 =0

8. 113-2=1011 23.118 - 10 = L]
9.113 - 10 = [ 24.17-1=5H

0 6-5=0 25.117 - [1=15
1. |16 - B = [ 26./117 - =13
12.116 - 10 = O 27.119 - =13
3.4 -2 =[] 28.|[]1-3 =16

14.(14 - 2 = [0 29.117 -4 =16 - [
15.114 - 10 = [ 0.119-7=01-6

Eu REKA Lesson 1:
MATH o

Compare length directly and consider the importance of aligning



http://creativecommons.org/licenses/by-nc-sa/3.0/deed.en_US
http://creativecommons.org/licenses/by-nc-sa/3.0/deed.en_US
http://creativecommons.org/licenses/by-nc-sa/3.0/deed.en_US

A STORY OF UNITS Lesson 3 Sprint m

A Number Correct: {I\:}

Name Date

*Write the missing number. Pay attention to the + and - signs.

L 1BHh+2=01 16. |13+ 6 = [

2. 115+2 =0 1713+ 16 = 1
3.12+b=[ 18.119 -2 =0

4 112+5H =01 19.119 -7 = 1

5. |7 -2 =01 2.4 +15 =1

6. |17 -2=01 21. |14 + 5 =
717 -5=010 22.118 - 6 = [

8. 117 -5 =0 23.118 -2 =0

9. 14+ 3= 24113+ 0=19
1014 + 3 = 5. 0-6=13

1. |3 +4 = 2.114+ =19
12113 +4 = [ 27./[1-4=1H
3.7 -4 =] 2. 00-5=14

417 - 4= O 29.(13+4=19 -0
517 - 3= 018 -6=0+3

EUREKA Lesson 3: Order three lengths using indirect comparison. 3
MATH - | | |
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A STORY OF UNITS Lesson 3 Sprint m

B Number Correct: {I\:}

Name Date

*Write the missing number. Pay attention to the + and - signs.

L 1Hh+1=01 6. 112 + 7 = [
2.115+1=0 7.2 + 17 = O
3./1+H =01 18. 118 -2 = [

4 [11+5=[ .18 - 6 = [
516 -1=01 20.13+16 =01

6 116 -1=101 213 + 6 = O
716 -5=0 22..17 -4 =0
5116 - 5= 23.[17 - 3= O

9. 14 +5 =[] 24.112 + 0 =18
014 + 5 = ] 5. 0-6=12
n|5+4 =014 26.113+ =19
215 + 4 = [ 7./ 0-3=16
5.9 -4=0 8. |00-3=17

14.119 -4 = O 29.111+6=19-0
15.119 - § = [ 30.019-5=0+3

EUREKA Lesson 3: Order three lengths using indirect comparison. 4
MATH - | | |
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A STORY OF UNITS Lesson 5 Sprint m

A Number Correct: {I\;\I}

Name Date

*Write the missing number.

. 17 -1=[1 .| 19-9=10]

2. 15-1=101 7.1 18 - 9 = []

.1 19-1=01 8. 11-9=1]

4. 15-2=1] 9. 16 -5 = [

5.1 17 -2 = [ 0.1 15-5=1[]

6. 18 -2 =[] 21.| 14 -5 = [

7.| 18 - 3 = [ 2.1 12 -5 =11

8. | 18 -5=[1] 23.| 12 -6 =[1

o. | 17 -5=011 24.1 14 - [1=11
0. 19-5=1 25.| 14 - [1=10

| 17 -7 =0 2.1 14-11=9

.| 18 -7 = [ 27.| 15-11=9

3. 19 -7 = [ 8., J-7=9

4. 19-2 =11 29.119-5=16 - I
. 19-7=01 30./115-8=01-9
EUREKA =% feromeond meosrevithcentimete cubes, using ther standor 5

unit name of centimeters.

MATH
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A STORY OF UNITS Lesson 5 Sprint m

B Number Correct: {I\;\I}

Name Date

*Write the missing number.

L1 16-1=0 .| 19 -9 =[]
2.1 14 -1= 7.| 18 - 9 = [

.1 18-1=0 8. 12-9=[
4119-2=01 9.0 19-8=01

5.1 17 -2 = ] 20.| 18 - 8 = [
6. | 15 -2 =[] 1.\ 17 -8 = L]
71 15-3=01 22.. 14 -5=[]

8. | 17-5=01 3. 13-5=[]

9.1 19-5=[1 2. 12 -=7

0. 16 -5 = [ 5. 16 - [1=10
.| 16 - 6 = [ 26.| 16 -[1=9

2. 19-6 =[] 27.| 17 -0=9
3.1 17 -6 = [ 8./ [1-7=9

u| 17 -1=01 20.(19 -4 =17 - [
.| 17 -6 = [ .16 -8=01-9
EUREKA  lson%  fonameandmeosrenith cntimetrcube, sing the sanr 6

unit name of centimeters.

MATH
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A STORY OF UNITS

A

Name

*Wprite the missing humber.

Lesson 7 Sprint

Number Correct: {:}

Date

1] 17 +1= [ .| 11+ 9 =[]

2. 15 +1=101] 7.1 10+ 9 = [

3.0 18 +1=[1 8. 9+9=[]

4| 15+ 2 =[] 9. 7+9=10]

5. 17+ 2 = [ 0. 8+ 8 =[]

6. | 18 +2 =[] 21| 7 +8="L]

7.1 15+ 3 =[] 22.. 8+ b =[]

8| H+13=01 23.| 11+ 8 =[]

o.| 15+ 2 =[] 240 12+ =17
0| 5+12 = [ 5.\ 14+ [1=17
| 12 + 4 = [] 2. 8+ =17
2. 13+4 = 27., 1+ 7 =16

3. 3+14 =] 28.| [J+7=1H

4| 17 +2 = [ 29./19+5 =10+ [
. 12 +7 =11 0..7+8=011+9
EUREKA T e simultaneously i 50 the need to messure wit s conssent 7

unit.
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A STORY OF UNITS

B

Name

*Wprite the missing humber.

Lesson 7 Sprint

Number Correct: {:}

Date

L1 14 +1=0 .| 11+9=01

2.1 16 +1 =0 7./ 10+9=0
3.1 17+1=01 8| 8+9 =010

4| 11+2=0 9.0 9+9 =0

5.1 15+ 2 = [ 20, 9+ 8 =[]

6. 17 +2 =01 211 8+ 8 =01

7.1 15+4 = 2.1 8+bH =[]

8. | 4+15 = 3. 11+7 =0

9. 15+ 3 =[] 24. 12+ =18
0| 5+13 = 5. 14+ =18
| 13+4 = 2. 8+[1=18
2. 14 +4 = 27 O+bH5=14
13.| 4+ 14 = 28.| O+6=15
4. 16 + 3 = 29.19+6=10+0
5. 13+6 =[] 0.6+7=0+9
EUREKA T e simultaneously i 50 the need to messure wit s conssent 8

unit.
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A STORY OF UNITS

Lesson 9 Sprint m

Number Correct: {jz}

A

Name Date

*Write the missing number.

1 17+1=0 .| 11+9=0

2. 15+1=0 7. 10+9=0

3. 18+1=0 18, 9+9:=0

a 15+2=0 19. 7+9:=0

5. 17+2 =0 20, 8+8=01

6. 18+2=0 21, 7+8=0

7 15+3=0 22. 8+5 =[]

8.1 5+13=0 3. 11+8=0

9. 15+2=0 4. 12+0=17
0| H+12=0 5. 14+0=17
11 12+4 =0 2., 8+0=17
12, 13+4 =[] 27. O+7 =16

3. 3+14=0 8., [O+7=15

4| 17+ 2= 29./9+5=10+ 0O
s 12+ 7 =01 0. 7+8=0+9

Eu REKA Lesson 9:

two different objects measure

d in centimeters.
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A STORY OF UNITS Lesson 9 Sprint m

B Number Correct: {jz}

Name Date

*Wprite the missing humber.

1 14+1=0 16. 11+9=0
2. 16 +1 =0 17. 10+9=0
3. 17+1=0 18. 8+9 =0
4. 11+2=0 19. 9+9:=0
5. 15+2=0 20. 9+8=0
.| 17+2=0 21, 8+8=0
7. 15+4=-0 22. 8+5H=[1
8. 4 +15 =1 23, 11+7=0
9. 15+ 3 =0 24| 12+0=18
10. 5+13 =0 5. 14+ =18
| 13+4=0 2. 8+[=18
12 14 + 4 = 27. O+5=14
13, 4+14 - 28. O+6=15
4| 16 +3 = 29.19+6 =10+
15, 13+6=0 . 6+7=0+9

Eu REKA Lesson 9: Answer compare with difference unknown problems about lengths of 10

red in centimeters.

M l TH,. two different objects measu
This work is derived from Eureka Math ™ and licensed by Great Minds. ©2015 Great Minds. eureka-math.org
G1-M3-5aFP-13.0-05.2015 15
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Lesson 11 Sprint m

A Number Correct: {:I\:::}

Name Date

A STORY OF UNITS

*Write the missing number.

L 17-1=0 . 19-9=0

2.1 15-1=0 7. 18 -9=0

3.1 19-1=0 8. 11-9=0

4 15-2=0 9. 16 -5=0

5.1 17-2=0 2. 15-5=01

6. | 18-2=0 21| 14-5=0

71 18-3=0 22.| 12-5=0

8. | 18-5=0 3.0 12-6=0

o. | 17-5=0 4.1 14-0=11
10.| 19-5=0 25.| 14-0=10
| 17-7=0 2.1 14-0=9
2. 18 -7 = [ 27.| 15-0=9
3. 19-7=0 8.\ O0-7=9

14| 19 -2 = [ 29./119-5=16-0
5. 19-7=0 30./115-8=0-9

EUREKA Lesson 11: Collect, sort, and organize data; then ask and answer questions about 11

M I TH.. the number of data points.
This work is derived from Eureka Math ™ and licensed by Great Minds. ©2015 Great Minds. eureka-math.org
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A STORY OF UNITS Lesson 11 Sprint m

B Number Correct: {:I\:::}

Name Date

*Write the missing number.

1| 16-1=0 .| 19-9=01
2. 14-1=01 7. 18 -9=0
3.1 18-1=0 8. 12-9 =0

41 19-2=0 9.1 19-8=0

5.1 17-2=0 20.| 18 -8 = [

6. | 1b-2=0 1.1 17-8=0

71 15-3=0 22.| 14-5=01

8. | 17-5=0 23.| 13-5=0

9.1 19-5=0 24| 12-0=7
10.| 16 -5 = [ 5. 16 -O=10
1. | 16 - 6 = [ 2. 16 -0=09
2. 19 -6 =[] 27.| 17-0=9
3. 17-6=0 .| O-7=9

4. 17-1=01 29.119-4=17 -1
5. 17 - 6 = [ 30./16-8=0-9

EUREKA Lesson 11: Collect, sort, and organize data; then ask and answer questions about 12

M I TH.. the number of data points.
This work is derived from Eureka Math ™ and licensed by Great Minds. ©2015 Great Minds. eureka-math.org
G1-M3-5aFP-13.0-05.2015 15
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A STORY OF UNITS

A

Name

Lesson 13 Sprint

Number Correct: {i}

Date

*Write the missing number.

L] 9+1+3=0 .| 6+3+8=01
2| 9+2+1=010 17.| 5+9+4 =
3. B+b+3=0 8| 3+12+4-=
2| B+2+5=[ 9.0 3+11+5 =
5. 4+5+5 =[] 20| b+6+7=01
6. | 8+2+4=[1 2t 2+6+3 =[]
7| 8+3+2=01 22| 3+2+13=
8. | 12+2+2= 23, 3+13+3=
o.| 3+3+12= 241 9+1+0=14
0| 4+4+5 = 5. 8+4+0-=
| 2+15+2= 2. O+8+6=
2| /+3+3=01 27| 2+0+7=
3. 1+17+1=01 28.| 2+2+ =
4| 14+2+2-= 20.| 19=6+0+
5. 4+12+4-= so.] 18=7+0+
EUREKA oot e oreprobiem s sboutadatasetuit 13



A STORY OF UNITS

B

Lesson 13 Sprint

Number Correct: {2}

Name Date
*Write the missing number.

L1 9+1+2=01 6. 6+3+9=1
2.1 9+4+1=0 7.1 4+ 9+ 2 =1
3. Bb+Hh+1=01 8.1 2+12+4 =
4| HB+3+5= w2+ 11+5=0
5. 4+5+5 =[] 20| 6+6+7=01
6. | 8+2+2=01 2. 2+6+H =]
71 8+3+2=0 2./ 3+3+13=0
8. | 11+1+1=0 23.13+14+3 =01
0. 12+2+14 =1 241 9+1+0=13
0. 4+4+4= 5. 8+4+0=15
1 2+13+2 =0 2. J+8+6=18
2. 6+ 3+ 3= 27.1 2+ [0 +6=18
3. 1+15+1=01 8.1 2+5+[=18
4 [15+2+2 =01 29.119=H5+0+9
5.13+14+3 =0 30.019=7+0+6
EUREKA o3 ke i ord e s st 3wt 14
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